Aufbauanleitung & Stiickliste /Assembling Instruction & Parts List
#44456

ﬁrt.-Nr. d Kratzbaum / Scratching Post Farbe / Colour Hoéhe / Height
em No. top
44456 Alfonso braun / brown 135cm down
Pos. Nr./ Bezeichnung/ Abmessung / Anzahl/ Art. Nr. /
Pos. No. Description Measurement in mm Quantity Item No.
Pos. 1 Bodenplatte / Bottom plate 2 580 x 20 1 44456-10
Pos. 2 Stufe / Step plate 350 x 20 x 350 1 44456-11
Pos. 3 Liegeplatte, mondférmig / Lying plate, moon shaped 640 x 20 x 420 1 44456-12
Pos. 4 Liegeplatte, mondférmig / Lying plate, moon shaped 640 x 20 x 420 1 44456-13
Pos. 5 Platte fiir Bettchen / Plate for bed 580 x 30 x 350 1 44456-14
Pos. 6 Héhle / Cave 350 x 300 x 350 1

Pos. 6.1 | Bodenplatte Hohle / Bottom plate cave 350 x 20 x 350 1 44456-41

Pos. 6.2 | Dachplatte Hohle mit Bezug / Top plate cave with cover 350 x 20 x 350 1 44456-42

Pos. 6.3 | Stamm mit Stehbolzen, fiir Hohle / Post with spacer bolt 230 x 268 3 44456-43
Pos. 7 Bettchen / Bed 580 x 140 x 350 1 44456-44
Pos. 8 Stamm / Post 100 x 280 2 44456-30 g
Pos. 9 Stamm mit Stehbolzen / Post with spacer bolt 2100 x 280 2 44456-31 g
Pos. 10 Stamm / Post 2100 x 580 2 44456-32 g
Pos. 11 Stamm mit Stehbolzen / Post with spacer bolt 2100 x 580 1 44456-33 = %b
Pos.a Flachkopfschraube / Flatheat screw M8 x 30 1 = Q
Pos. b Flachkopfschraube / Flatheat screw M8 x 50 6 g
Pos. c Gewindeschraube / Thread screw M8 x 80 4 44456-60 g
Pos.d Unterlegscheibe / Washer M8 x 24 3 =
Pos. e Inbus / Allen ke 1 -

> i [d= !
[b] &
Pos. a Hﬁmmm Pos. d ANANRALARARRARRARANAY Hinweis: @ Conseil:
Dieser Artikel sollte von einer erwachsenen Person Vous trouverez les informations détaillées en
aufgebaut werden. francais et en italien a chaque référence d'article,

s (I e <= et s e e lgng s st o

Pos. ¢ [T Pos. f

&)

130923

=

BAC
DE
TRI

&N Advice: (D Nota:

This product should be assembled by an adult.
Please find instructions in French and Italian under
the corresponding item number at www.trixie.de/en.

Le istruzioni in italiano e francese sono disponibili
selezionando il codice dell'articolo sul

nostro sito www.trixie.it.

info smaltimento: www.trixieitalia.it

TRIXIE Heimtierbedarf - Industriestr. 32 - 24963 Tarp - GERMANY - www.trixie.de / TRIXIE UK Pet Products Ltd., Unit 7, Deer Park Road, Moulton Park, Northampton NN3 6RZ 93975



